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NEW QUESTION 1
Given the code fragment:

// login time:ZD15-01 1
Tnstant loginTime = Ins
Thread.alaap (10001

// Togous Lims:1Z20.5-01-12T21:58:19.8303

Tnetant. logoutTime = Insatant.noew():

laginTime = loginTiss.truncatsdPe iChronenit .MINUTES) ¢ fd 1ina nl
logoutTima = legoutTivs,.cruicataedTo IChronenlt .MINUTES) ;

1L (legoutTixe.laAftar{loginTixs))
Syetem.out.priazin{“Logged cut at: * 1| lagoutTimal ;

13
‘"
|‘l

Byatean.out.priatini{™Can's logous="i;
What is the result?

A. A compilation error occurs at Line nl.

B. Logged out at: 2015-01-12T21: 58:002

C. can’t Logout.

D. Logged cut at: 2015-01-12T21:50:19.000z

Answer: B

NEW QUESTION 2
Given the code fragment:

cLass Paraogn |
prxivabe Stzlng nazxs;
publlc Peraon[Sceaing name) 4
Flag.Nals = Dame
F
Jleaster and gatter meihods g0 hers
].

and
public szatic void mainiftringll args) 4
Streanclist<Pecsons> pacftresam = JStrsan, ol
Erraye,asliat(nes Fereoni{®Jack"!, new Fersond"san="!i.,
Arraye.asliat ipsw Ferscnf™John™) ),
Arraye,asliatinaw Fezeon(“Ton™), new BFeisoa("Idin"))

o
St ream<Parson> parsens =

pardirean, flatMap (personlisay > personilist.straamid)
persong,fazfachip > Svacso.out.printip,gesMamel) | "™ "))y

}

What is the result?

A. An exception is thrown at runtime.
B. Jock Jcne

C. Jack jane John Tcm Tim

D. A compilation error occur

Answer: C

NEW QUESTION 3
Given the code fragment:

1. Iovegezl] nunbezAzzay - (1, 2, 3, 4, S, 6, 7« 8 j:
2. Lizt<Intagar> listOoshmumbars =

3. pew Arzaviisl<> (Arzays.aslisl (swumbesAzzay)):

4, Tnist<Tntagar> myTiegr =

- B Collecticns.synchronizadlist (new Aszayoist<x()):
f, 11t *Nuxhara

{12 .parallelsStrcam()

H. map(a > { myList,add(s): return &}

g. . SorBachOrdarad(c => sy::c:r..::l:tl.'_:-rin':{: +°F "1}2
10, System.oul.pelnlni);:

11. myTist

12. ,Szzmanl}

13 .~orFachia =3 Bystam.cut.prins(a + " "))

What change must you make to enable the code to print the following output?
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12345678
12345678

A. Replication line 8 with.pook(o -> 1 myLis

B. Add(c) ; )}

C. Replication line 12 with Parallelstrees{).

D. Replication line 7 withStream({).

E. Replication line 13 withforEachorder{c -> system.out.print { ¢ + “ “} ;.

Answer: C

NEW QUESTION 4
Which code fragment, when inserted at line n1, produces the result fy20°4.txt?

¢ Dz
> TEpoTEY

s Ly20l4.:xL

Given Lthe cude lragment:

L.--_l

'] I!‘ _—

f F adllE o=

files.forEach(Z =» Eystez.cut.print (f.gezFileMame{}) )
} catch [TOHTxcaption &)

Systam.onr.priasin{al);

A. stream<path> files =Files.find(path

B. get(“"D\\ report”) , (p, a) -> a isRagular File ());
C. stream<path> files = File

D. Wal

E. get(“"D\\ report™);

F. stream<path> files = File

G. Wal

H. get(“D\ report”), 3, (p, a) -> p.isregularFile()) ;
I. stream<path> files = Files.find(path

J. get(“D\\ report"\\ry2014.txt")) *

Answer: B

NEW QUESTION 5
Given the code fragment:

- o - - -

I, RT.C 1T ""'“_IH" = FR LT -— T 1 - e, - .._-‘r.. . ar ¢y () ;
Tuma.a2add 100

i )

L)
L]
[}
[

“ums . 210

"I_.' '.F|_ l"li
Tumsa. replacarll ifunianti;
Svetay.cub.printindnuas) ;

Which code fragment, when inserted at linenl, enables the code to print (500, 1000)?

A. UnaryOperator<Integger> funintf- n -> n * 5;
B. Function<Integer>funintf -n ->n*5;

C. intFunction funintf =n ->*5; |

D. Consumer <Integer> funintf=n->n*5;

Answer: A

NEW QUESTION 6

Which is true regarding the jaa.nio.file.Path interface?

A. Implementation of this Interface are nor safe for use by multiple concurrent threads.

B. implementations of this interface arc immutable.

C. The interface extends the watchservice Interface.

D. Paths associated with the default provider are not interoperable with the java.io.File clas
Answer: B

NEW QUESTION 7
Given the code fragments:
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tafs Doak {4
String DHnans;

deubl=s DELCH;

publlc 3gokiScring kbnama, double prige) |
SHa . Dnans = Ename:
+N1l8.PLELCS = priced
:.
J/ aaLTar and Jgentsr mealhods g0 qere
)
and
10, Liel<3yuud> Douks — new Arraylis.<Dock>i):

11. Beaks.add (naw Raoki{®oava 3E", 2031);:
12. buoks.addinew Buok{wava ME", 12J));
13. neoks.atraam() .filtari(h -> h.ga=Rnavai)
14. cguals ("Javae 9L%))

15, foerfashie = h.satPricad2nt);

16. bcoks. forfach(b => gyszex.zut.printinib.baams + ":" + b.pricz)):
What is the result?
A. Java SE: 2000.0 Java XE: 120.0B .java SE: 300.0 Java XE : 120.0
B. Compilation fails due to at line 15.
C. Compilation falls due to an error at line 16.
Answer: A

NEW QUESTION 8
Given the code fragment:

-

List<Integer> codes = Jrrava.aglast |10, Z0)
YOAryvparator<boubles ye = a3 > ¢ dve®
l-‘...""lif= L -'I- .I:I LF !\- ’-UT-;- -':- :u- '- ! l‘l: ' I:
sodeg . forZach(c > Cystew,ouat.prantlinich)
What is the result?
A. A compilation error occurs.
B. 1020
C. 20.030.0
D. A NumberformatExecption is thrown at run tim
Answer: C
NEW QUESTION 9
Given the code fragment:
5_.!.-!:!:---_' clags Teat |
pun ] gratic vold main(Scringl! arge} ¢
FrE=mtar g = (#) - X
raturn 2 1+ " Walconsl™;

System.ous.printinig.grsati(Xathy™)}:
]
Which is the valid definition for the crecter interface to enable the code fragment to print ksthy welcome!?

A. public interface greater { Private string greet {string name};)
B. public interface greater <T> { Public static String greep (T , name) ;)

C. public interface greater {Public default String greet{ String name} { Return name;}Public String greet (String nhame, String salute);)
D. public interface greater { Public String greet(String name) ;)

Answer: D

NEW QUESTION 10
Given the Greetings. Properties file, containing;
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#AELIO MEC — Hello, =swvoryonaol
COODRYE MEZ — Cocdbyc overyoneo!

and Ggiven

immcert Jova.util.Enumcrations
iznsrt Sava.util.lotale)
imscrt Sava.util.ResourceBundls;
pubblic class Rezseurecshep
publie veid loadrzczcurceBundle |
FEesourcaBEundls resourcs = R
Systam.ous.printla{rscscurec

|
|

What is the result?

A. Goodbye everyone

B. GOODBYE everyone!
C. Hello, everyone!

D. HELLO_MSG
E. Compilation

Answer: C

NEW QUESTION 10

argsl |

Which statement Is true about the single abstract method of the java.util.function.Function Interface?

A. It accepts an argument and produces a result of any data type.

B. It accepts one argument and returns void.

C. It accepts one argument and always produces a result of the same type as the argument.

D. It accepts one argument and returns boolea

Answer: A

NEW QUESTION 11

aube il iDaca) |
ifiData.alze < SMALL ENOUDGN)

[Dlata) s

(iDazal:

And given the missing methods:

process, submic, DNd splitInHalf

. Inserted submit at line X.

. Inserted process at line X.

. Inserted submit at line z.

. Inserted process at line Y.

. Inserted process at line Z.

. Inserted splitTnhalf at line Y.
G. Inserted splitinhalf at line

mTmoOw>

Answer: BCF

NEW QUESTION 12
Given the code fragments:
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&, veid doSLull() Chzuwe ArllluwelloZgoepliot, SunberFormalEXcepoivh,; Exoepllol
o i (Math.randam() > =1| throw naw Excaption("Try again®
6.
and
ST
= b |
25. dogtuff(};
F.0 - T A 1 i Lhinst E e 0f HimnerFormasizoant | Excag cn &)
5 b - L1 o ™
L5, Systom.ous.prantinje.gatdozzagel) i 7
8, salel (Zavepllon )
/9. Systam.ou=.prirntinie.gatMassagal()};
=
-

Which modification enables the code to printTry again?

A. Replication line 27 with: Throw e;

B. Replication line 26 with:) catch (Exception | ArithmetiExeception | numberFormate Exception e) {
C. Replace line 26 with:) catch (ArituretcExeption | NumberFormException e) {

D. Comment the lines 28, 29, and 30.

Answer: D

NEW QUESTION 16
Given the code fragment:

7 e v
i b _: - 1 — = :'-. H"-‘.:H:‘+1JHr:-ur1lr!.l_!i]_ll:
SVYaETan . .cut.println("average = " | d);

Which should be inserted into line n1 to print Average -2.5?

A. TNT.stream atr = Stream.of (1, 2, 3, 4);

B. IntStream str =IntStream.of (1, 2, 3, 4);

C. DoubleSteram str- intstream.of (1, 0, 2.0, 3.0, 4.0,);
D. Steram str = Stream.of (1, 2, 3, 4);

Answer: C

NEW QUESTION 20
Given the interface:

bl i interface Jd==snaralbor

nD ganNext

Which class implements idGenerator in a safe manager, so that no threads can get a duplicate id value during concurrent access?

A. public class Generator implements IdGenerator ( Private volatile int Id -0;Public int getNExt Td() | Synchronized (new generator()) { return ++id;}}}
B. public class Generator implements IdGeneretor ( Private int id =0;Public int getNEXxtld {) { Synchronized (new generator()) { return ++id;}}}

C. public Class Generator implement IdGenerator ( privateAtcmicininteger id - new Atomaticintegger (0); public int getNextld{} {return i

D. Increaseincrasement AndSet{) ;}}

E. public Class Generator implement IdGenerator ( Private int id =0;Public int getNextld { ) { Synchronized (id) ; return ++id}}

F. public Class Generator implement IdGenerator ( Private int id =0;Public int getNextld {) { Synchronized (id) ; return ++id}}}Return ++id;

Answer: C

NEW QUESTION 24
Given the code fragment:

Which code fragment, when inserted at line n1, enables the code to print the could of string elements whose length is greater than three?

A. listVa

B. Stream(). Filter(x, length {) > 3}. count ()
C. listva

D. Stream().filter(x->

E. length{) > 3.} .mapToint{x -> x). count ()
F. listva

G. Stream().map {x ->

H. length {) >3}. count ()

. listVa

J. Stream().peek [x ->

K. length{} > 3} count (). Get ()
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Answer: A

NEW QUESTION 26
Given:

Lass Mylpp

ic static vaid asin(stringll args)

string yar = args.length == 1%argall]: "Ravz"s

gvstex.cut.printlnikava™}; bLreak:
- =
ex.cut.prinele("Xava™); break:

tox.cut.printlnikawa"};: break:

L
s
1]
]
it
i
[
rt
I'Lt
H
e

ntln(*Xawa™); broak;

)
What is the result when you compile the code and execute the command: Java MyAPP Kava

A. Kava
B. Kawa
C. An Exception is thrown at runtime.
D. Kava
E. Kawa

Answer: E

NEW QUESTION 31
Given the code fragment:

Al LIBLAITEANgY ah = naw SopyvOonWrltelrrayllana» i)
inal Atomicintsger a: = neaw ALON -T_"._i:*lj“l‘l..:
**wal .":-'::! Alarris narrlar = newu I-"_...': {oDare _..[_.:‘. nav Runrablae i)
naae ] » yold rual) { Systam.ous.pesatlntlias)z )
| B
Tunnab e = sl RInYa &)
il ] i
=¥
thread.alesp (1000 * 3l incrementAndGet.()
= -'1!"”""'1:
Car ar AWE ii
A h (Cxespt §
| &
e Thresd (=) L
% g r‘ll.l.._..“::..I artc ()
naw Threzdlo] art |
e@w Threadirl.atarti)

What is the result?

A. [X, X][ X, X, X, X]

B. [X][

C. XJ[X, X, X]

D. [X](X, X][x, X, X][ X,
E. x, X]

F. [x, X]

Answer: A

NEW QUESTION 34
Which two codes correctly represent a standard language local code?

A. UB
B. uB
C.FR
D. EE
E. ff

F.eB

Answer: CD

NEW QUESTION 38
Given the code fragment:
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-

%

LiatdSnriqagodlildars =an
dame s .add(naw SLringlu
qames, add inaw SLELAaq0u0
Aames, sLrasmi) . forSachd
Tt i b=

=ert (3 ", "2
= o =

ut.priazing

. ferZachis —>
n

What is the result?

A. Tom, Joe,

e = [ :-"_'-.'I-::-r'!':.'l'.'

1dar (*Tcm™) )} :

| 1dar (= Joa™) )

- W ]

- YR AR @lla™) i

=3

B. An llleqalstateException is thrown at the run time.

C. Tom, Hello Joe, Hello
D. A compilation error occur

Answer: C

NEW QUESTION 41

Which statement Is true about java.util.stream.stream?

A. Streams support aggregate operations.

B. All stream operations are lazy.

C. Objects in streams are intended to be mutable.

D. Streams can be reuse

Answer: A

NEW QUESTION 45

In 2015, daylight saving time in the New Yourk, beings on March 8th at 2:00 AM. As a result, AM becomes 3:00 AM.

Given the code fragment:

- -
rie L3 AN - s ha

: ]
-’

: i e A S Haw iR ¥
ZanadbataTimz dt — ZonadbatelTixe.of [(LacalbData.af(20L%, 3,
sanadbataTim= =2 — a*= FLUusHoOEE (235
Syctex.out.printiDazeTlixmcTorzacter.oflattern("Hism = ") . %
SYyStoR.cut.print In{™diffarane * 4+ ChrcnclDnit HOURS. . botTw

¥

Which is the result?
A. 3:00 — difference: 2
B. 4:00 — difference: 2
C. 4:00 — difference: 2
D. 2:00 — difference: 1
Answer: A
NEW QUESTION 47
Given:
tass Worker sanands Thrsad
o 1 Darx - A i
K 11 " = Syall Tis - i Ehis b = i i
public vaid maal)
=Cy
ce.awalizd)y
E:,'::::l.:_".:.|::1n":'_.—.l"i":-::.';-:..:|:,_."|.
catch ({Exccptian =x)
Siags Hascoy implamonts Runacsls |/ Lime nld
subliz veid muaild
Systam.out.peintin i "Mastax .
and the eede fragment
MESESET MasSter = AW HasTEE
/ line nd
Warkaz wanier — aaWw Wazker (chhi
warkozr,.szace ()

You have been asked to ensure that the run methods of both the worker and Master classes are executed.

Which modification meets the requ

irement?

A. At line n2, insert cyclicBarrier cb = new cyclicBarrier {2, master} ;

B. At line n2, insert cyclicBarrier cb = new cyclicBarrier {1, master} ;
C. At line n2, insert cyclicBarrier cb = new cyclicBarrier {1) ;

D. At line n2, insert cyclicBarrier cb = new cyclicBarrier{master) ;
Answer: B

NEW QUESTION 50
Which two statements are true about localizing an application?
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A. Support for new regional language does not require recompilation of the code.
B. Language codes use lowercase letters and region cedes use uppercase letters,
C. Textual elements (messages and GUI labels) are hard coded in the code.

D. Language and region-specific programs are created using localized data.

E. Resource bundle files Include date and currency information.

Answer: DE

NEW QUESTION 52
Given the code fragment:

ZomplelataeTorman =4l
new Slmplelsteformat ("ezez™, Locals.US)

¢
avatam.cub.prianln{™Tesuit: = A4%. fopwat itoadayl

What type of result is printed?

A. Era

B. Time of the Epoch (in milliseconds)
C. Full text time zone name

D. Time zone abbreviation

E. Julian date

Answer: B

NEW QUESTION 54
Given the code fragment:

LD ! Ags TeeLlrLring
i1 ETAatl i HalniSLy ol “rg=
] BLE=:11
= Mi{atrl .
W u-—;
‘-\.J.'_-lhr'lr_..l| 1"' ¥ n:"bhla=ss™ : LI F e &
S8 "M o
B Leil O . D "N LL™) hE®aX;
1T a2
A‘,".i"ln‘l. L PE 3™ 14 5
What is the result?
A. NULL
B. An exception is thrown at runtime.
C. blank
D. Compilation fails
E. invalid
Answer: B
NEW QUESTION 58
Given:
AFE =FOTU
I alw= iDle | =]
- uos fdouble | =
- B F B E H—
LU | 1 £ e _il-ll - = - -— i
and the code lrogment:
ListncFroductEy» prid = new ArrayLilstd>|
DY . A0 i nas =roduet 0 )2
File At I N=s :I"'iql.'l:.-ll 1 ¢
ril.aidlinas = Yt an ) 2

s - + . | "
yatan,ouk.Dprintinl(iotalyP: =

Which code fragment, when inserted at line n1, results in the following output?

A. double totalprise =pr

B. Stream()* Reduce (0,0 Double::sun) ;

C. double totalprise =pr

D. Stream()*Parallel ()*Reduce {0.0, {p1,p2)-> pl. Getprice{}+ p2. Getprice {}) =
E. double totalprise =pr

F. Stream{)*Parallel ()*aap { -> p.getprice{})* reduce (0.0, (p1, p2) -> pl + p2) ;
G. double totalprise =pr

H. Stream{) Rduce(0.0, {p1, p2) -> pl + p2);
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Answer: D

NEW QUESTION 63
Given the code fragments:

slass B lmplements Funrable |
i

puindic wold rux() 4 Swarem,

i
elage o lmplements Sallablectirl

punlis String salldr theowa

"
and

TEraculariarvioe as = [HEecilors.r
wE, enesee fnew ROV ;
Fubreddorings 1 = a5, 3ubml.ins
FUSTEN, UL OY \E_ﬁ SAn(EL . et il ) ;

e, ghundoewn |

What is the result?

cub.printlof™un. . "v: )
(L
Fucapnion { refurs "Gmli.. ™

ewdiagleThresElyeaunor (|
fA01lne nl

WGy SF 1ine n?

A. The program prints Run... and throws an exception.

B. Run... Call...
C. A compilation error occurs at line n2.
D. A compilation error occurs at line nl.

Answer: B

NEW QUESTION 65
Given the code fragment:

Interface Yahlole |
public vold ridelint ap=eadj.:

}

and

J, gkl wiable woid mairniGLei
gq. Yehicla v = new Wohiclad
5. prblic woad cide [aol
£x. Avsnom.out.pring
7. i

(s L

a, woEids (100) ;

Lo, &

Which code fragment could you use to refactor t

A. Vehicle V =(int speed) -> =[int.speed) system
B. (Fly at” + speed} ;
C. Vehicle V = speed -> [system.outprint(“Fly at

Py [l asgel 4

o

wpemen ) o

I“FLY AT " + Epserdlby

he code from line 4 to 8 to use a Lambda expression?
.out.prin

“+speed)];

D. Vehicle V = int speed -> System.cut.print (“Fly at “+ speed} ;
E. Vehicle V = new vehicle (int speed) (System.out.print{ Fly at “+speed); };

Answer: B

NEW QUESTION 66
Given:
puplic class Vehicle |
lnt vid:
Grring vNaws:
public Vehicle(int vIdArg, Str
shis.vwId = wIdArg:
sals.viams = vNamaArg)
4
public int gesvId() { reaturn v
publio String getWNama{} { ras
publiec String toStringl)y {
ranirn VYiame:
| b
}

and the code frogment:

Lizt{Vohiclal wehicle = Arrays.a:sL
ncw Vehiclel(2, "Carx™),
new Vahicle([d; “Bire™),
now Vohicle(l, "Trracx));
velilele. .ol oedmi)
ff lina nd

| -TfarEach (Systam.ous::prine

Which two code fragments, when inserted at Line nl independently, enable the code print TRUCKCarBike?

A. .sorted (comparabl
B. Comparing (vehicle:: getVName) . reverse()
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C. .sorted(comparator, comparing ((vehicle v)

D. getVId()))

E. .map(v->

F. getVid ()). sorted ()

G. .sorted ((v1, v2) -> integer .compare(vl.getVId() , v2.getVid()))
H. .sorted ((v1, v2) -> v1.getVid() < v2. getVid())

Answer: BD

NEW QUESTION 71
Given the code fragement:

publ L ald procaagFilal) nrYonE TOEMcspLion, SlasaNotFoundExocea;
Ley [Fillafieader fr = aaw FilaResader ("laglfilasrc. LEE™
I0) apritay W = new FllaWritar("log-lladest.LEL™)
clasa ¢ = Claag.forRame{"java. lang.JJoLelng™) &

If exceptions occur when closing the Filewriter object and when retrieving the JString class object, which exception object is propagated up to the caller of the
processFile method?

A. Java.lan

B. Exception

C. Java.lan

D. NOSuchClassException
E. Java .j

F. ToException

G. Java.lan

H. classNotFoundException

Answer: D
NEW QUESTION 76

Given the definitions of Readable and writable interfaces:
intzrfzca Readabls

i d =lece| Bystam.ouz.peinz{™ Cloze "}i
)
intarfzca Writabls =xtends Reozdsklc |
public dofauls woid writ=(] |
readl) s Line nl
Syatam.out.print{"Helecoe™;:
|
Glven
=iazs Canvas implemants Writable ilinc a2
public wzid read(] | Syszoex.cut.print(®"Hellio "
public ctotic void main(sString[] args [
wWritable canvasl = asw Canvasl):
canvacl.®xraizel)q
Weitabla.elazz{)}; line vl
1
!
What is the result?
A. Hello welcome close
B. Compilation fails due to an error at Line n2.
C. Compilation foils due to on error at Line n3.
D. Compilation fails due to an error at Line nl..
Answer: A
NEW QUESTION 78
Given the code fragment:
ProductCodecdNurybar, Inbegars> gl = naw ProduotCode<Numbar, THCagar> () L R | neEta=nsiacion */f
ProduernCodad<Nunbary, String> ¢l = naw Froductdodaclumbear, SLring>(): f* a3 MeELs s lation *f

You have been asked to define the productcode class. The definition of the productcode class must allow ¢ 1 instantiation co succeed and cause a compilation
error on 02 instantiation.
Which definition of productcode meets the requirement?

A. class productCode<T, S extends T> { T c1;S c2;)
B. class productCode<T, S<{T cl1;S c2;)

C. class productCode<T, S<IntegAr>> { T c1;S ¢2;)
D. Class productCode<T, S super T>{ T c1;S c2;)

Answer: A
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NEW QUESTION 79
Gi_\(en:

import tava,util,concurrens.atomic-AtomicInteger

clase Incrementor |
public static vold mainiStringl] args) |
AatomicIrnteger ] wvar = new Asomlclntegar[5)]:
for (int L = 02 1 < 52 140} {
varfil= new AtomicInteger():
'

for (int L = 07 1 < war.length: 14v} {
var(l] . incremsntAsdGes ()
11 i1 == 2)

varll).comparsdndfet(Z, 4):
Syatem.out.print(vacfi] 1+ " "};:

1
What is the result?

A.01234
B.01234
C.11111
D.12345

Answer: C

NEW QUESTION 83
Given the code fragment:

public static void main

i | = i
Etrcam.oft{"oava™, "Cnax", Lipux")
filzeri{z => =.containg("n"™))
.pecik(s -> Bystom.ocut.println{"DXEX: " + z))
fd lissc nl
1
A. .allMatch () ;

B. .FindFirst () ;
C. .nonexatch () ;
D. findAny () ;

E. .anyMatch () ;

Answer: BE

NEW QUESTION 85
Given:
clase Washer |
public atatle void main(oString[) args} |
Runnable r = () ‘= {
aystaem.out.print ("L1 *}:
}J..
naw Thresd(r).start().
naw Thread(() » {
Syatem.out.print |"TL2 ")
b)eBLAES() 2
Syatam,ous.print W3 ")

|
Which result possible?

A.L1w3

B.L2 w3
C.L1L2w3

D. w3

E. Compilation fail

Answer: E

NEW QUESTION 88

You are asked to implement an interface that processes a batch of transaction objects and returns a discounted value for each transaction as a double primitive
value.

Which interface can you use to accomplish the task?

A. ToDoubleFunction
B. DoubleConsumer
C. DoubleFunction
D. DoubleSuppLier
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Answer: A

NEW QUESTION 91
Given the following incorrect program:

LAanE Hfrﬂﬂk asxLanpds Fﬂﬂpzshrﬂ:fgﬂirnjﬁaqlﬁ

firal int low: Flnal int Lah;
Etatlo Iixal ixac TEDEENQOLD = [*, .42
MyTaskiing low, Ant higal 4 thie,low = lowr thie. high = highr
Integer coanpurzalizrsctlvl)l {4 J*.,,* }
protecsiad vord computel) |

{higl low <= TIRESELLDY

raturn coxpuLabiractlv i)

' d = (1ow | highd) 7/ £

cavokesll]l fnew MyTask(low, mo®) » new Mylask imad, hagh)l:

Which two changes the program work correctly?

A. The compute () method must be changed to return an integer result.

B. The TIDESHOLD value be increase so that the overhead of task creation does not dominate the cost of computation.
C. The MyTask class must be modified to extend RecuraivaAction Instaed of RecuresivATAsk.

D. Result must be retrieved from the newly created MyFask instances and combined.

E. The computeDirectly {} method must be enhanced to fork () new created tasks.

F. The midpoint computation must be altered so that it splits the workload in an optimal manne

Answer: CE

NEW QUESTION 94
Given:
claame Dird (

public waid “iyvil) { Syatam.out.print{”Can rIy*}: }
]

siaas Panguin axteandas Dird |
public vald =“1ly() { Syatam.out.print{-Canaot [l1y=1: )

and the code frogment:

§ -

static void x=in(string(]l argsl |
Fl () => now Bard(} )¢
(Fenguin: :new)

f* lima-nl %J
|

Which code fragment, when instead at Line nl, enables the Birdie class to compile?

A. static void fly (consumer <? Extends Brid Eird} { Bird.accept().fly()?
B. static void fly(consumer>Bird> bird (Bir

C. Accept {} fly {)?}

D. static void fly (supplisr<Bird> bird) ( Bird.get 1). Fly() ;}

E. static void fly (supplier <? extends Bird> bird } { bird.get{) ;}

Answer: B

NEW QUESTION 97
Given:
claas CheciClaas |
public static int chec<Valueifitring 1, String e3)({
ratarn =1.langth!} a2, lengthi):
}
}

and the cede frogment:

Jrring() strArray = new string(]l { ~Tiger™, ~"RAat", "Cat~, "Lion™ }:
Jrlire ni
*ar (Onriag & 31 atnrarray) i
Svetem.out.pziazfe + " ");
)

Which code fragment should be inserted at line nl to enable the code to print 2ot cot Lion Tiger?

A. Array

B. Sort (strArray, (CheckClass:: Checkvalue) ;
C. Array

D. Sort (strArray, CheckClass:: checkvalue) ;
E. Array

F. Sort (strArray CheckClass :: new:: checkvalue) ;
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G. Array
H. Sort (strArray, (Checkless:: new, checkValue) ;

Answer: B

NEW QUESTION 100
Give the code fragment:

BT =
pubkllc sia & maini{dtringl 2= -
SilatsTntagars ruma = Brrays.aaliet (1, p Sy B, §)
BV EREL&EM i ) 0 | i Vil imis ) :- -
il h* BTaT Y 1 -1 .-'I!l._ Y el | o _1'—'-| o &t

Which code fragment, when inserted at line n1, enables the code to print the sum of all the elements in the runs list?

A. return list, Stream () .map (I -> i) sum () ;

B. return list, Stream ().mapToint (I ->i). sum () ;
C. return list, Stream () .mapToint(i -> i+ i) . sum();
D. return list, Stream () .map(1-> 1 +1) .sum{) ;

Answer: B

NEW QUESTION 101
Given the code fragment:
it {avar++ < 101
System.out.println (avVar +
boelze |
System.out.println (avar +

" Hello Worldl™):

Hello Universze!l ™) ;

4
What is the result if the integer avar is 9?
A. 10 Hello World!
B. Hello Universe!
C. Hello World!
D. Compilation fail

Answer: A

NEW QUESTION 102
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